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■Ïˇğ¦š=¹ŁšŠšÞ¦Č=

‚ÝČ=³¹²˛ÞþŁð¦=Þ˛=ˇþðþŁŞ¼=¦Ý¦=ž˛ŠÞ¦¼=¹²šÞð˛¼=ĆÝšð²×þ-
Ğð˛½þŁ=ð=×˛žİšŠ¦Þ¦²šÝČý=Þ˛ł×³žð¦=Ph^=−×šŠ³¹ýþ²×šÞŞ=
Þ˛ˇþ×Ş=−×¦Þ˛ŠÝšŽÞþ¹²šÐ=¹=¾šÝşć=¦¹−þÝşžþŁ˛Þ¦Č=
×˛žİšŠ¦Þ¦²šÝšÐ=Ł=ð˛₣š¹²Łš=¹²˛ÞŠ˛×²ÞŞ¼=¦=˛Ł˛×¦ÐÞŞ¼=
ŁŞðÝć₣˛²šÝšÐK

‚ÝČ=¦¹−þÝşžþŁ˛Þ¦Č=O=×˛žİšŠ¦Þ¦²šÝšÐ=²¦−˛=PË„=Ł=ð˛₣š¹²Łš=
−š×šðÝć₣˛²šÝšÐ=Þ˛ł×³žð¦=¹³ğš¹²Ł³š²=¹−š¾¦˛ÝşÞŞÐ=−×¦ŁþŠK

ÓŞ₣˛ŽÞŞÐ=ýš¼˛Þ¦žý=−š×šðÝć₣šÞ¦Č=−þžŁþÝČš²=
þŠÞþŁ×šýšÞÞþ=ðþýý³²¦×þŁ˛²ş=ŠŁ˛=×˛žİšŠ¦Þ¦²šÝČ=Þ˛ł×³žð¦=
¹=þŠ¦Þ˛ðþŁŞý¦=¦Ý¦=×˛žÝ¦₣ÞŞý¦=Þþý¦Þ˛ÝşÞŞý¦=×˛ˇþ₣¦ý¦=
²þð˛ý¦K=

ÏŠ¦Þ˛ðþŁŞš=−×¦Þ˛ŠÝšŽÞþ¹²¦=ŠÝČ=×˛žİšŠ¦Þ¦²šÝšÐ=
Þ˛ł×³žð¦=Ph^I=Phi=¦=Phj=¹=−×šŠþ¼×˛Þ¦²šÝČý¦=¦=ˇšž=Þ¦¼=
³−×þğ˛ć²=ŁšŠšÞ¦š=¹ðÝ˛Š˛=ž˛−˛¹ÞŞ¼=₣˛¹²šÐK

■ÏˇÝ˛¹²ş=−×¦ýšÞšÞ¦Č=========

Ó˛žİšŠ¦Þ¦²šÝ¦=Þ˛ł×³žð¦=Ph^=¦=Phb=¦¹−þÝşž³ć²¹Č=Ł=ð˛₣š¹²Łš=
łÝ˛ŁÞŞ¼I=˛Ł˛×¦ÐÞŞ¼I=×šýþÞ²ÞŞ¼=ŁŞðÝć₣˛²šÝšÐ=¦=¹š²šŁŞ¼=
−š×šðÝć₣˛²šÝšÐ=Ł=×˛¹−×šŠšÝ¦²šÝşÞŞ¼=³¹²×þÐ¹²Ł˛¼=Ł=Ž¦ÝŞ¼=
¦=ÞšŽ¦ÝŞ¼=¹þþ×³ŽšÞ¦Č¼I=˛=²˛ðŽš=Ł=−×þýŞĞÝšÞÞþ¹²¦K=‡=²×š¼-=
¦=₣š²Ş×š¼−þÝć¹ÞŞ¼=ýþŠ¦½¦ð˛¾¦Č¼=þÞ¦=þˇš¹−š₣¦Ł˛ć²=
ŁðÝć₣šÞ¦š=¦=þ²ðÝć₣šÞ¦š=³ð˛ž˛ÞÞþłþ=Þþý¦Þ˛ÝşÞþłþ=²þð˛=−þŠ=
Þ˛ł×³žðþÐK=ÏŠÞþŁ×šýšÞÞþ=þÞ¦=ŁŞ−þÝÞČć²=ž˛ğ¦²Þ³ć=
×˛žŠšÝ¦²šÝşÞ³ć=¦=×˛žİšŠ¦Þ¦²šÝşÞ³ć=½³Þð¾¦ć=Łþ=Ł¹š¼=¾š−Č¼=
²þð˛=Þ¦žðþłþ=Þ˛−×ČŽšÞ¦ČK

‡¹š=×˛žİšŠ¦Þ¦²šÝ¦=Þ˛ł×³žð¦=Ph=³¹²þÐ₣¦ŁŞ= 
ð=ðÝ¦ý˛²¦₣š¹ð¦ý=ŁþžŠšÐ¹²Ł¦Čý=¦=þ²Łš₣˛ć²=Þþ×ý˛ý=
Í˚Ë=SMVQT-N=¦=Í˚Ë=SMVQT-PK=‚ÝČ=¦¹−þÝşžþŁ˛Þ¦Č=Ł=ð˛₣š¹²Łš=
−×šŠþ¼×˛Þ¦²šÝşÞþłþ=ŁŞðÝć₣˛²šÝČ=−×šŠÝ˛ł˛ć²¹Č=
×˛žİšŠ¦Þ¦²šÝ¦=Þ˛ł×³žð¦=Ł=²¦−þŁþý=¦žþÝ¦×³ćğšý=ðþ×−³¹š=
Uem=E¹²š−šÞş=ž˛ğ¦²Ş=fmSRFK

‚þ−þÝÞ¦²šÝşÞŞš=Š˛ÞÞŞšI=¹ýK=Ł=ð˛²˛Ýþłš=is=NMKOI=łÝ˛Ł³=NU= 
…Ó˛¹−×šŠšÝ¦²šÝşÞŞš=ğ¦²ŞŸ=¦=łÝ˛Ł³=NV=…ËÝšýýÞŞš=ˇÝþð¦ŸK
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Все компоненты, от выключателя до привода, оснащены функциями невзаимозаменяемости.

Крышка клеммной коробки IP20 (со стороны обслуживания)
1
2
3 Выключатель-разъединитель 3K
4 Главные контакты (только для 3 KE)
5 Удлиненный шток
6

7 Рукоятка 8UC9 для стац. установки в стандартной модификации (черная) 
или модификации для аварийного останова (красная/желтая)

Поворотный привод с дверной муфтой 8UC7 в стандартной модификации 
(темно-серый) или модификации для аварийного останова (красный/желтый)

Дополнительный контакт (3SB для 3 KA; 3 KX для 3 KE)
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■ �š¼Þ¦₣š¹ð¦š=¼˛×˛ð²š×¦¹²¦ð¦

NF �š¼Þ¦₣š¹ð¦š=¼˛×˛ð²š×¦¹²¦ð¦=˛−×þˇ˛¾¦¦=−×šŠþ¹²˛ŁÝČć²¹Č=−þ=ž˛−×þ¹³K
OF Òð˛ž˛Þ¦š=−þ=−×þšð²¦×þŁ˛Þ¦ćW=ý˛ð¹K=Šþ−³¹²¦ý˛Č=×˛ˇþ₣˛Č=²šý−š×˛²³×˛=

Þ˛=ž˛Ž¦ý˛¼=NMM=Œ K̀
PF ‚ÝČ=²¦−˛=Ph^RU=−×¦=Ćð¹−Ý³˛²˛¾¦¦=-OR=Œ`=KKK=HPR=Œ Ì=RTM=fi=−×¦=RR=Œ K̀
QF �þÝşðþ=¹=−×šŠþ¼×˛Þ¦²šÝČý¦=Pk^P=UI=Pk^P=O=¦Ý¦=PkaN=UI=PkaN=O= 

EŁ=Š×³ł¦¼=¹Ý³₣˛Č¼=²þÝşðþ=NMR=ðfiLRM=ðfiFK

RF Ì×šŠþ¼×˛Þ¦²šÝş=ŠÝČ=ðþýý³²˛¾¦þÞÞŞ¼=˛−−˛×˛²þŁ=PkaNK
SF OP=‡=−š×šýK=²þð˛K
TF OOM=‡=−þ¹²K=²þð˛=EiN=¦=iP=¹þšŠ¦ÞšÞŞ=−þ¹ÝšŠþŁ˛²šÝşÞþF=¦Ý¦=NNM=‡=−þ¹²K=

²þð˛=EþŠÞ˛=¾š−şF=−×¦=−þ¹²K=²þðš=OP=fiK
UF Ì×¦=QQM=‡=iLo=Z=Q=ý¹I=−×¦=OOM=‡=iLo=Z=NR=ý¹K
VF Ì×¦=QQM=‡=−þ¹²K=²þðš=OO=fiI=−×¦=OOM=‡=−þ¹²K=²þðš=OP=fiK

                  

Îþ×ý˛²¦ŁÞŞš=Šþð³ýšÞ²Ş Í˚Ë=SMVQT-NI=Í˚Ë=SMVQT-P


¦− Ph^RM Ph^RN Ph^RONF Ph^RPNF Ph^RRNF Ph^RTNF Ph^RUNF

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì ^ SP UM NOR NSM ORM QMM SPMPF

Ò¹ÝþŁÞŞÐ=²š−ÝþŁþÐ=²þð=Þ˛=þ²ð×Ş²þý=ŁþžŠ³¼š=fíÜ
OF ^ SP UM NOR NSM ORM QMM SPMPF

Îþý¦Þ˛ÝşÞþš=Þ˛−×ČŽšÞ¦š=¦žþÝČ¾¦¦=rá ‡ SVM SVM NMMM NMMM NMMM NMMM NMMM

Îþý¦Þ˛ÝşÞ˛Č=¦ý−³Ýş¹Þ˛Č=−×þ₣Þþ¹²ş=ráãé ð‡ S S U U U U U

Îþý¦Þ˛ÝşÞþš=×˛ˇþ₣šš=Þ˛−×ČŽšÞ¦š=rÉ

RMLSM=·¾=^` ‡ SVM

a` ‡ QQM=EP=−þÝć¹˛=ŁðÝć₣šÞŞ=−þ¹ÝšŠþŁ˛²šÝşÞþF
‡ OOM=EO=−þÝć¹˛=ŁðÝć₣šÞŞ=−þ¹ÝšŠþŁ˛²šÝşÞþF
‡ NNM=EN=¾š−şF

Îþý¦Þ˛ÝşÞ˛Č=ŁðÝć₣˛ćğ˛Č=¹−þ¹þˇÞþ¹²ş=−×¦=ËÂ=fÅã= 
¹=−×šŠŁðÝć₣šÞÞŞý¦=−×šŠþ¼×˛Þ¦²šÝČý¦QF

ðfi OOM OOM OOM OOM NTS NTS NMR

Ì×¦=RMLSM=·¾=SVM=‡=^ Ì=−¦ðþŁþš=žÞ˛₣šÞ¦š

Îþý¦Þ˛ÝşÞŞÐ=ŠšÐ¹²Ł¦²šÝşÞŞÐ=²þð=ðþ×þ²ðþłþ=ž˛ýŞð˛Þ¦Č= 
¹=−×šŠŁðÝć₣šÞÞŞý¦=−×šŠþ¼×˛Þ¦²šÝČý¦QF

ðfi= NMM NMM NMM NMM UM UM RM

Ì×¦=RMLSM=·¾=SVM=‡=^ Ì=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦š
Í˛ð¹K=Þþý¦Þ˛ÝşÞŞÐ=²þð=få=−×šŠþ¼×˛Þ¦²šÝšÐ ^ SP UM NSM NSM QMM QMM SPM
‚þ−³¹²¦ýŞÐ=¹ðŁþžÞþÐ=²þð=−×šŠþ¼×˛Þ¦²šÝšÐ ðfi U NM NT NT PMRF PMRF QMRF

Í˛ð¹¦ý˛ÝşÞþš=Šþ−³¹²¦ýþš=¹ðŁþžÞþš=žÞ˛₣šÞ¦š=fOí ðfiO¹ RR RR OOP OOP NMMM NMMM OSMM

‚þ−³¹²¦ýŞÐ=¹ðŁþžÞþÐ=²þð=−×šŠŁðÝć₣šÞÞþłþ=
˛Ł²þý˛²¦₣š¹ðþłþ=ŁŞðÝć₣˛²šÝČ

ðfi= T U U NR OR OR PO

Ì×¦=RMLSM=·¾=SVM=‡=^ Ì=−¦ðþŁþš=žÞ˛₣šÞ¦š

Îþý¦Þ˛ÝşÞ˛Č=ŁðÝć₣˛ćğ˛Č=¹−þ¹þˇÞþ¹²ş=−×¦=ðþ×þ²ðþý=
ž˛ýŞð˛Þ¦¦=ˇšž=−×šŠþ¼×˛Þ¦²šÝšÐ

ðfi T T T V OM OR PR

Ì×¦=RMLSM=·¾=SVM=‡=^ Ì=−¦ðþŁþš=žÞ˛₣šÞ¦š

‡ðÝć₣˛ćğ˛Č=¹−þ¹þˇÞþ¹²ş=EŁŁþŠ=−¦²˛Þ¦Č=¹Þ¦ž³=¦Ý¦=¹Łš×¼³F

Ì×¦=QMM=‡=^`
≥ �þð=þ²ðÝć₣šÞ¦Č=fÅ=E−×¦=éKÑK=Z=MIPRI=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF ^= RMM SRM NMMM NOUM OMMM POMM RMQM
≥ Îþý¦Þ˛ÝşÞŞÐ=×˛ˇþ₣¦Ð=²þð=fÉ=−×¦=

^`-ON^I=^`-OO^I=^`-OP^ ^ SP UM NOR NSM ORM QMM SPMSF

≥ Ëþýý³²˛¾¦þÞÞ˛Č=¹−þ¹þˇÞþ¹²ş=ŠŁ¦ł˛²šÝČ=^`-OP^ ð‡² PM QM SR UM NPO OMM PRM

Ì×¦=RMM=‡=^`
≥ �þð=þ²ðÝć₣šÞ¦Č=fÅ=E−×¦=éKÑK=Z=MIPRI=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF= ^= RMM SQM NMMM NOUM OMMM POMM POMM
≥ Îþý¦Þ˛ÝşÞŞÐ=×˛ˇþ₣¦Ð=²þð=fÉ=−×¦

^`-ON^I=^`-OO^ ^ SP UM NOR NSM ORM QMM SPM
^`-OP^ ^ SP UM NOR NSM ORM QMM QMM

≥ Ëþýý³²˛¾¦þÞÞ˛Č=¹−þ¹þˇÞþ¹²ş=ŠŁ¦ł˛²šÝČ=^`-OP^ ð‡² QM RM VM NNM NUR OUM OUM

Ì×¦=SVM=‡=^`
≥ �þð=þ²ðÝć₣šÞ¦Č=fÅ=E−×¦=éKÑK=Z=MIPRI=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF ^ RMM RMM NMMM NOUM OMMM POMM POMM
≥ Îþý¦Þ˛ÝşÞŞÐ=×˛ˇþ₣¦Ð=²þð=fÉ=−×¦

^`-ON^I=^`-OO^ ^ SP UM NOR NSM ORM QMM SPM
^`-OP^ ^ SP SP NOR NSM ORM QMM QMM

≥ Ëþýý³²˛¾¦þÞÞ˛Č=¹−þ¹þˇÞþ¹²ş=ŠŁ¦ł˛²šÝČ=^`-OP^ ð‡² RM RM NNM NRM OOM PTR PTR

Ì×¦=QQM=‡=a`=EP=−þÝć¹˛=ŁðÝć₣šÞŞ=−þ¹ÝšŠþŁ˛²šÝşÞþFTF

≥ �þð=þ²ðÝć₣šÞ¦Č=fÅ=EiLo=Z=NR=ý¹F ^ ORM OSM RMM SQM NMMMUF NSMM NSMM
≥ Îþý¦Þ˛ÝşÞŞÐ=×˛ˇþ₣¦Ð=²þð=fÉ=−×¦=a`-OP^ ^ SP SP NOR NSM ORMVF QMM QMM

Îþý¦Þ˛ÝşÞŞÐ=ð×˛²ðþŁ×šýšÞÞŞÐ=²þð=fÅï
EN-¹šðK=²þðI=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF

ðfi= OKR OKR PKO PKO U NN NR

‚þ−³¹²¦ý˛Č=²šý−š×˛²³×˛=þð×³Ž˛ćğšÐ=¹×šŠŞ Œ` -OR=KKK=HRR=−×¦=Ćð¹−Ý³˛²˛¾¦¦PF

Œ` -RM=KKK=HUM=−×¦=¼×˛ÞšÞ¦¦

Íš¼˛Þ¦₣š¹ð˛Č=¦žÞþ¹þ¹²þÐðþ¹²şI=×˛ˇþ₣¦š=¾¦ðÝŞ NR==MMM NR==MMM NR=MMM NR==MMM NO==MMM NO==MMM NO==MMM

Ô²š−šÞş=ž˛ğ¦²Ş fmMMLfmOM=E¹þ=¹²þ×þÞŞ=þˇ¹Ý³Ž¦Ł˛Þ¦ČI=¹=Ğ¦Þþ−×þŁþŠþý=¦=ð×ŞĞð˛ý¦=ðÝšýýÞþÐ=ðþ×þˇð¦F

Ìþ²š×Č=ýþğÞþ¹²¦=ŁŞðÝć₣˛²šÝČ-×˛žİšŠ¦Þ¦²šÝČ=−×¦=fíÜ ‡² T NO OO OO PP TO NTM

ÌþŠðÝć₣šÞ¦š=łÝ˛ŁÞŞ¼=¾š−šÐ
�þðþŁŞš=Ğ¦ÞŞI=ý˛ð¹K=×˛žýš×Ş=Eˆ=¼=·F ýý OR=ñ=V OR=ñ=V QR=ñ=NM QR=ñ=NM QM=ñ=NO QM=ñ=NO QM=ñ=NR

Ë˛ˇšÝşÞŞÐ=Þ˛ðþÞš₣Þ¦ðI=ý˛ð¹K=¹š₣šÞ¦š=−×þŁþŠ˛=EýÞþłþŽ¦ÝşÞKF ýýO PR PR TM NOM NRM O=ñ=NRM=¦Ý¦=
N=ñ=OQM

O=ñ=OQM

ÍþýšÞ²=ž˛²ČŽð¦ Îý S=KKK=TKR S=KKK=TKR T=KKK=NM NU=KKK=OO PR=KKK=QR PR=KKK=QR PR=KKK=QR
‡¦Þ²Ş=ðÝšýý jS jS jS jU jNM jNM jNM

ÌþŠðÝć₣šÞ¦š=ž˛ğ¦²Þþłþ=−×þŁþŠ˛
ÌÝþ¹ð¦š=Ğ¦ÞŞ ýý= -- -- -- -- OM=ñ=OIR OM=ñ=OIR OM=ñ=OIR
Ë˛ˇšÝşÞŞÐ=Þ˛ðþÞš₣Þ¦ðI=ý˛ð¹K=¹š₣šÞ¦š=−×þŁþŠ˛=EýÞþłþŽ¦ÝşÞKF ýýO

-- -- -- -- TM NOM NOM
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Îþ×ý˛²¦ŁÞŞš=Šþð³ýšÞ²Ş================== Í˚Ë=SMVQT-NI=Í˚Ë=SMVQT-P


¦− PhbQO PhbQP PhbQQ PhbQR

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì ^ ORM QMM SPM N=MMM

Îþý¦Þ˛ÝşÞþš=Þ˛−×ČŽšÞ¦š=¦žþÝČ¾¦¦=rá ‡ ^`=N=MMMI=a`=N=OMM

Îþý¦Þ˛ÝşÞ˛Č=¦ý−³Ýş¹Þ˛Č=−×þ₣Þþ¹²ş=ráãé ð‡ U U U U

Îþý¦Þ˛ÝşÞþš=×˛ˇþ₣šš=Þ˛−×ČŽšÞ¦š=rÉ

RMLSM=·¾=^` ‡ SVM

a` ‡ QQM=EP=−þÝć¹˛=ŁðÝć₣šÞŞ=−þ¹ÝšŠþŁ˛²šÝşÞþF

‡ OOM=EO=−þÝć¹˛=ŁðÝć₣šÞŞ=−þ¹ÝšŠþŁ˛²šÝşÞþF

Îþý¦Þ˛ÝşÞ˛Č=ŁðÝć₣˛ćğ˛Č=¹−þ¹þˇÞþ¹²ş=−×¦=ËÂ=fÅã ðfi= PR PR SM SM
Ì×¦=RMLSM=·¾=SVM=‡=^ Ì=−¦ðþŁþš=žÞ˛₣šÞ¦š

Îþý¦Þ˛ÝşÞ˛Č=ŁðÝć₣˛ćğ˛Č=¹−þ¹þˇÞþ¹²ş=−×¦=ðþ×þ²ðþý=
ž˛ýŞð˛Þ¦¦=¹=−×šŠŁðÝć₣šÞÞŞý¦=−×šŠþ¼×˛Þ¦²šÝČý¦

ðfi= NMR NMR NMR UQ

Ì×¦=RMLSM=·¾=SVM=‡=^ Ì=−¦ðþŁþš=žÞ˛₣šÞ¦š

Îþý¦Þ˛ÝşÞŞÐ=³¹ÝþŁÞŞÐ=²þð=ðþ×þ²ðþłþ=ž˛ýŞð˛Þ¦Č= 
¹=−×šŠŁðÝć₣šÞÞŞý¦=−×šŠþ¼×˛Þ¦²šÝČý¦

^ RM RM RM QM

Ì×¦=RMLSM=·¾=SVM=‡=^`=EŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF

Í˛ð¹¦ý˛ÝşÞþš=Šþ−³¹²¦ýþš=¹ðŁþžÞþš=žÞ˛₣šÞ¦š=fOí ðfiO¹ O=NRM O=NRM R=QMM NV=MMM

‚þ−³¹²¦ýŞÐ=¹ðŁþžÞþÐ=²þð=−×šŠŁðÝć₣šÞÞþłþ=
˛Ł²þý˛²¦₣š¹ðþłþ=ŁŞðÝć₣˛²šÝČ

Ì×¦=RMLSM=·¾=SVM=‡=^ Ì=−¦ðþŁþš=žÞ˛₣šÞ¦š ðfi= PR PR SM SM

Í˛ð¹K=Þþý¦Þ˛ÝşÞŞÐ=²þð=få=−×šŠþ¼×˛Þ¦²šÝČ ^ QMM QMM SPM N=MMM

‚þ−³¹²¦ýŞÐ=¹ðŁþžÞþÐ=²þð=−×šŠþ¼×˛Þ¦²šÝšÐ=E−¦ðþŁþš=
žÞ˛₣šÞ¦šF

ðfi= PU PU SM TR

‡ðÝć₣˛ćğ˛Č=¹−þ¹þˇÞþ¹²ş=EŁŁþŠ=−¦²˛Þ¦Č=¹Þ¦ž³=¦Ý¦=¹Łš×¼³F

Ì×¦=QMM=‡=^`

≥ �þð=þ²ðÝć₣šÞ¦Č=fÅ=E−×¦=éKÑK=Z=MIPRI=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF ^= N=MMM N=MMM O=ROM O=ROM

≥ Îþý¦Þ˛ÝşÞŞÐ=×˛ˇþ₣¦Ð=²þð=fÉ=−×¦

^`-ON^ ^ ORM QMM SPM NMMM

^`-OO^ ^ ORM PPM SPM UMM

^`-OP^ ^ NOR NOR PNR PNR

Ì×¦=RMM=‡=^`

≥ �þð=þ²ðÝć₣šÞ¦Č=fÅ=E−×¦=éKÑK=Z=MIPRI=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF ^= N=MMM N=MMM O=ROM O=ROM

≥ Îþý¦Þ˛ÝşÞŞÐ=×˛ˇþ₣¦Ð=²þð=fÉ=−×¦

^`-ON^ ^ ORM QMM SPM NMMM

^`-OO^ ^ ORM PPM SPM UMM

^`-OP^ ^ NOR NOR PNR PNR

Ì×¦=SVM=‡=^`

≥ �þð=þ²ðÝć₣šÞ¦Č=fÅ=E−×¦=éKÑK=Z=MIPRI=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF ^= N==MMM N=MMM O=ROM O=ROM

≥ Îþý¦Þ˛ÝşÞŞÐ=×˛ˇþ₣¦Ð=²þð=fÉ=−×¦

^`-ON^ ^ ORM QMM SPM N=MMM

^`-OO^ ^ ORM PPM SPM UMM

^`-OP^ ^ NOR NOR PNR PNR

Ì×¦=QQM=‡=a`=EP=−þÝć¹˛=ŁðÝć₣šÞŞ=−þ¹ÝšŠþŁ˛²šÝşÞþF

≥ �þð=þ²ðÝć₣šÞ¦Č=fÅ=EiLo=Z=R=ý¹F ^ N=MMM N=MMM O=ROM O=ROM

≥ Îþý¦Þ˛ÝşÞŞÐ=×˛ˇþ₣¦Ð=²þð=fÉ=−×¦

a`-ON^ ^ ORM QMM SPM N=MMM

a`-OO^ ^ ORM ORM SPM SPM

Îþý¦Þ˛ÝşÞŞÐ=ð×˛²ðþŁ×šýšÞÞŞÐ=²þð=fÅï
EN-¹šðK=²þðI=ŠšÐ¹²ŁK=žÞ˛₣šÞ¦šF

ðfi= NOIR NOIR ON ON

‚þ−³¹²¦ý˛Č=²šý−š×˛²³×˛=þð×³Ž˛ćğšÐ=¹×šŠŞ Œ` -OR=KKK=HRR=−×¦=Ćð¹−Ý³˛²˛¾¦¦

Œ` -RM=KKK=HUM=−×¦=¼×˛ÞšÞ¦¦

Íš¼˛Þ¦₣š¹ð˛Č=¦žÞþ¹þ¹²þÐðþ¹²şI=×˛ˇþ₣¦š=¾¦ðÝŞ NM==M=MM

Ô²š−šÞş=ž˛ğ¦²Ş fmMM

Ìþ²š×Č=ýþğÞþ¹²¦=ŁŞðÝć₣˛²šÝČ-×˛žİšŠ¦Þ¦²šÝČ=−×¦=fíÜ ‡² NR PP TU NUM

ÌþŠðÝć₣šÞ¦š=łÝ˛ŁÞŞ¼=¾š−šÐ

�þðþŁŞš=Ğ¦ÞŞI=ý˛ð¹K=×˛žýš×Ş=Eˆ=ñ=·F ýý OR=ñ=NM OR=ñ=NM O=ñ=QM=ñ=NM O=ñ=QM=ñ=NM

Ë˛ˇšÝşÞŞÐ=Þ˛ðþÞš₣Þ¦ðI=ý˛ð¹K=¹š₣šÞ¦š=−×þŁþŠ˛=EýÞþłþŽ¦ÝşÞKF ýýO O=ñ=NRM O=ñ=NRMI=N=ñ=OQM O=ñ=OQM O=ñ=OQM



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

Ò¹²˛ÞþŁð˛=Þ˛=ýþÞ²˛ŽÞŞ¼=−Ý˛²˛¼

7/34
G=Â˛ð˛žŞŁ˛š²¹Č=Š˛ÞÞþš=¦Ý¦=ð×˛²Þþš=šý³=ðþÝ¦₣š¹²ŁþK

■ÏˇÝ˛¹²ş=−×¦ýšÞšÞ¦Č====

Ó˛žİšŠ¦Þ¦²šÝ¦=Þ˛ł×³žð¦=Ph^=¦¹−þÝşž³ć²¹Č=Ł=ð˛₣š¹²Łš=
łÝ˛ŁÞŞ¼=¦=˛Ł˛×¦ÐÞŞ¼=ŁŞðÝć₣˛²šÝšÐ=ŠÝČ=×˛ˇþ₣šÐ=
ðþýý³²˛¾¦¦=¦=×˛žİšŠ¦ÞšÞ¦Č=Ł=łÝ˛ŁÞŞ¼=¦=Ł¹−þýþł˛²šÝşÞŞ¼=
¾š−Č¼=²þð˛K=ÏÞ¦=²˛ðŽš=¦¹−þÝşž³ć²¹Č=ŠÝČ=þ²ðÝć₣šÞ¦Č=
²×š¼½˛žÞŞ¼=ŠŁ¦ł˛²šÝšÐ=¦=Š×³ł¦¼=Þ˛ł×³žþð=Ł=¹Ý³₣˛š=
²š¼þˇ¹Ý³Ž¦Ł˛Þ¦Č=¦Ý¦=×šýþÞ²˛K

·Ý˛ŁÞŞš=¦=˛Ł˛×¦ÐÞŞš=ŁŞðÝć₣˛²šÝ¦=¹þþ²Łš²¹²Ł³ć²=Í˚Ë=
SMVQT-P=¦=bk=SMVQT-P=¦=ČŁÝČć²¹Č=×˛žİšŠ¦Þ¦²šÝČý¦=
Þ˛ł×³žð¦=¹=×³₣ÞŞý=³−×˛ŁÝšÞ¦šýI=ŁŞ−þÝÞČć²=½³Þð¾¦ć=
×˛žİšŠ¦ÞšÞ¦Č=¦=þ²Łš₣˛ć²=²×šˇþŁ˛Þ¦Čý=Š¦×šð²¦ŁŞ=−þ=
ý˛Ğ¦Þþ¹²×þšÞ¦ć=bk=SMOMQ-NK=

■‚˛ÞÞŞš=ŠÝČ=ŁŞˇþ×˛=¦=ž˛ð˛ž˛

‡¹š=×˛žİšŠ¦Þ¦²šÝ¦=Þ˛ł×³žð¦=¦ýšć²=¹²š−šÞş=ž˛ğ¦²Ş=fmMMK 
‡¦Þ²Ş=ž˛Ž¦ýþŁ=ŠÝČ=−þŠðÝć₣šÞ¦ČI=ð˛ð=−×˛Ł¦ÝþI=Ł¼þŠČ²=Ł=þˇİšý=−þ¹²˛Łð¦K

NF ÔÞ¦ŽšÞ¦š=Þþý¦Þ˛ÝşÞŞ¼=žÞ˛₣šÞ¦Ð=−×¦=ŁŞ¹Ğ¦¼=ł˛×ýþÞ¦ð˛¼=þ²=
₣˛¹²þ²ÞŞ¼=−×šþˇ×˛žþŁ˛²šÝšÐK

‚ÝČ=−þÝ³₣šÞ¦Č=¦Þ½þ×ý˛¾¦¦=þˇ=˛Ł˛×¦ÐÞŞ¼=ŠŁš×ÞŞ¼=
−þŁþ×þ²ÞŞ¼=−×¦ŁþŠ˛¼=Ur`T=E×³ðþČ²ð˛=ð×˛¹Þ˛ČI=−þŠÝþŽð˛=
ŽšÝ²˛ČF=¹ýK=…Ì×¦Þ˛ŠÝšŽÞþ¹²¦ŸK

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì aq Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò

„Ò=EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

^ ðł

Ëþý−Ýšð²ÞŞš=ýþŠ¦½¦ð˛¾¦¦=¹=−þŁþ×þ²ÞŞý=−×¦ŁþŠþý= 
¹=ŠŁš×ÞþÐ=ý³½²þÐ=Ur`T=E₣š×Þ˛Č=×³ðþČ²ð˛F

P-−þÝć¹ÞŞš=ŠÝČ=ŠŁ¦ł˛²šÝşÞŞ¼=Þ˛ł×³žþð=¦=ŠÝČ=
×˛¹−×šŠšÝšÞ¦Č=ĆÞš×ł¦¦

SP B 3KA50 30-1GE01 1 N=Ğ²K 103 1,444
UM B 3KA51 30-1GE01 1 N=Ğ²K 103 1,403
NOR B 3KA52 30-1GE01 1 N=Ğ²K 103 2,383
NSM B 3KA53 30-1GE01 1 N=Ğ²K 103 2,426

ORM B 3KA55 30-1GE01 1 N=Ğ²K 103 5,475
QMM B 3KA57 30-1GE01 1 N=Ğ²K 103 5,556
SPM B 3KA58 30-1GE01 1 N=Ğ²K 103 6,128

Q-−þÝć¹ÞŞšNF=ŠÝČ=×˛¹−×šŠšÝšÞ¦Č=ĆÞš×ł¦¦

SP B 3KA50 40-1GE01 1 N=Ğ²K 103 2,498
UM B 3KA51 40-1GE01 1 N=Ğ²K 103 2,540
NOR B 3KA52 40-1GE01 1 N=Ğ²K 103 2,490
NSM B 3KA53 40-1GE01 1 N=Ğ²K 103 2,458

ORM B 3KA55 40-1GE01 1 N=Ğ²K 103 6,038
QMM B 3KA57 40-1GE01 1 N=Ğ²K 103 5,154
SPM B 3KA58 40-1GE01 1 N=Ğ²K 103 6,595

fl˛žþŁ˛Č=ýþŠšÝş=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

P-−þÝć¹ÞŞš=ŠÝČ=ŠŁ¦ł˛²šÝşÞŞ¼=Þ˛ł×³žþð=¦=ŠÝČ=
×˛¹−×šŠšÝšÞ¦Č=ĆÞš×ł¦¦

Ph^RP=PM-N^bMN

SP B 3KA50 30-1AE01 1 N=Ğ²K 103 0,946
UM B 3KA51 30-1AE01 1 N=Ğ²K 103 0,918
NOR B 3KA52 30-1AE01 1 N=Ğ²K 103 1,880
NSM } 3KA53 30-1AE01 N=Ğ²K

ORM 3KA55 30-1AE01 N=Ğ²K
QMM 3KA57 30-1AE01 N=Ğ²K
SPM 3KA58 30-1AE01 N=Ğ²K

Q-−þÝć¹ÞŞšNF=ŠÝČ=×˛¹−×šŠšÝšÞ¦Č=ĆÞš×ł¦¦

Ph^RP=QM-N^bMN

SP 3KA50 40-1AE01 N=Ğ²K
UM 3KA51 40-1AE01 N=Ğ²K
NOR 3KA52 40-1AE01 N=Ğ²K
NSM 3KA53 40-1AE01 N=Ğ²K

ORM C 3KA55 40-1AE01 1 N=Ğ²K 103 5,042
QMM B 3KA57 40-1AE01 1 N=Ğ²K 103 5,195
SPM B 3KA58 40-1AE01 1 N=Ğ²K 103 5,740

fiŁ˛×¦ÐÞŞÐ=ŠŁš×ÞþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=Ur`T=E×³ðþČ²ð˛=ð×˛¹Þ˛ČI=
−þŠÝþŽð˛=ŽšÝ²˛ČF=ŠÝČ=ˇ˛žþŁþÐ=ýþŠšÝ¦=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

P-−þÝć¹ÞŞš=ŠÝČ=ŠŁ¦ł˛²šÝşÞŞ¼=Þ˛ł×³žþð=¦=ŠÝČ=
×˛¹−×šŠšÝšÞ¦Č=ĆÞš×ł¦¦

Ur`TN=ON-P__NM

SP B 8UC71 21-3BB10 1 N=Ğ²K 103 0,200
UM B 8UC71 21-3BB10 1 N=Ğ²K 103 0,200
NOR B 8UC72 22-3BB20 1 N=Ğ²K 103 0,200
NSM B 8UC72 22-3BB20 1 N=Ğ²K 103 0,200

ORM B 8UC73 23-3BB30 1 N=Ğ²K 103 0,200
QMM B 8UC73 23-3BB30 1 N=Ğ²K 103 0,200
SPM B 8UC73 23-3BB30 1 N=Ğ²K 103 0,200

Q-−þÝć¹ÞŞšNF=ŠÝČ=×˛¹−×šŠšÝšÞ¦Č=ĆÞš×ł¦¦

SP B 8UC72 22-3BB20 1 N=Ğ²K 103 0,200
UM B 8UC72 22-3BB20 1 N=Ğ²K 103 0,200
NOR B 8UC72 22-3BB20 1 N=Ğ²K 103 0,200
NSM B 8UC72 22-3BB20 1 N=Ğ²K 103 0,200

ORM B 8UC73 23-3BB30 1 N=Ğ²K 103 0,200
QMM B 8UC73 23-3BB30 1 N=Ğ²K 103 0,200
SPM B 8UC73 23-3BB30 1 N=Ğ²K 103 0,200



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

Ò¹²˛ÞþŁð˛=Þ˛=ýþÞ²˛ŽÞŞ¼=−Ý˛²˛¼
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G=Â˛ð˛žŞŁ˛š²¹Č=Š˛ÞÞþš=¦Ý¦=ð×˛²Þþš=šý³=ðþÝ¦₣š¹²ŁþK

 

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì aq P-−þÝć¹ÞŞÐI=³¹²˛ÞþŁþ₣ÞŞÐ=
ðþý−Ýšð²=ŠÝČ=ýþÞ²˛Ž˛= 
Þ˛=ˇþðþŁþÐ=¹²šÞðš=ĆÝšð²×þĞð˛½˛

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

Ò¹²˛ÞþŁþ₣ÞŞš=ðþý−Ýšð²Ş=EfmQM=
¹−š×šŠ¦F

‡ðÝć₣˛š²W=ˇÝþð¦×³šý³ć=×³ðþČ²ð³= 
¦=²×¦=ð×ŞĞð¦=ðÝšýýÞŞ¼=ðþ×þˇþð=
ŠÝČ=¹²þ×þÞŞ=ŁŁþŠ˛

 
fi

Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò ðł

ıš×Þ˛Č=×³ðþČ²ð˛

 
Ph^RP=PM-N^bMN= 
¹=PhuP=RPS-O^^

SP B 3KX3 516-2AA 1 N=Ğ²K 103 0,591
UM B 3KX3 516-2AA 1 N=Ğ²K 103 0,591
NOR B 3KX3 536-2AA 1 N=Ğ²K 103 0,843
NSM B 3KX3 536-2AA 1 N=Ğ²K 103 0,843

ORM B 3KX3 556-2AA 1 N=Ğ²K 103 1,560
QMM B 3KX3 556-2AA 1 N=Ğ²K 103 1,560
SPM B 3KX3 556-2AA 1 N=Ğ²K 103 1,560

Ë×˛¹Þ˛Č=×³ðþČ²ð˛=˛Ł˛×¦ÐÞþłþ=þ¹²˛ÞþŁ˛

SP B 3KX3 516-2BA 1 N=Ğ²K 103 0,584
UM B 3KX3 516-2BA 1 N=Ğ²K 103 0,584
NOR B 3KX3 536-2BA 1 N=Ğ²K 103 0,860
NSM B 3KX3 536-2BA 1 N=Ğ²K 103 0,860

ORM B 3KX3 556-2BA 1 N=Ğ²K 103 1,590
QMM B 3KX3 556-2BA 1 N=Ğ²K 103 1,590
SPM B 3KX3 556-2BA 1 N=Ğ²K 103 1,590



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

Ò¹²˛ÞþŁð˛=Þ˛=ýþÞ²˛ŽÞŞ¼=−Ý˛²˛¼
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G=Â˛ð˛žŞŁ˛š²¹Č=Š˛ÞÞþš=¦Ý¦=ð×˛²Þþš=šý³=ðþÝ¦₣š¹²ŁþK

‡¹š=×˛žİšŠ¦Þ¦²šÝ¦=Þ˛ł×³žð¦=¦ýšć²=¹²š−šÞş=ž˛ğ¦²Ş=fmMMK 
Ô=ŁŞ¹þðþ¹ðþ×þ¹²ÞŞý=ž˛ýŞð˛Þ¦šý=¦=×˛žýŞð˛Þ¦šýK 
‡¦Þ²Ş=ž˛Ž¦ýþŁ=ŠÝČ=−þŠðÝć₣šÞ¦ČI=ð˛ð=−×˛Ł¦ÝþI=Ł¼þŠČ²=Ł=þˇİšý=−þ¹²˛Łð¦K
 

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì aq P-−þÝć¹ÞŞÐI=−×¦ŁþŠ=¦=˛ð²¦Ł˛¾¦Č=
¹−š×šŠ¦

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=„Ò=
−×¦ýš×Þþ

Ì×ČýŞš=−×¦ŁþŠŞ

 
fi

Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò ðł

Ëþý−Ýšð²ÞŞš=ýþŠ¦½¦ð˛¾¦¦=¹=₣š×ÞþÐ=×³ðþČ²ðþÐ

 
PhbQP=PM-M_^

ORM B 3KE42 30-0BA 1 N=Ğ²K 103 4,210
QMM B 3KE43 30-0BA 1 N=Ğ²K 103 4,178
SPM B 3KE44 30-0BA 1 N=Ğ²K 103 7,184
NMMM B 3KE45 30-0BA 1 N=Ğ²K 103 7,838

fl˛žþŁ˛Č=ýþŠšÝş=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

ORM B 3KE42 30-0AA 1 N=Ğ²K 103 3,879
QMM B 3KE43 30-0AA 1 N=Ğ²K 103 3,870
SPM B 3KE44 30-0AA 1 N=Ğ²K 103 6,915
NMMM B 3KE45 30-0AA 1 N=Ğ²K 103 7,427

Ë×˛¹Þ˛Č=˛Ł˛×¦ÐÞ˛Č=×³ðþČ²ð˛=H=ý³½²˛=ŠÝČ=ˇ˛žþŁþÐ=ýþŠšÝ¦=
ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

ORM B 8UC93 71 1 N=Ğ²K 103 0,146
H

B 3KX2 210-0H 1 N=Ğ²K 103 0,236

QMM B 8UC93 71 1 N=Ğ²K 103 0,146
H

B 3KX2 210-0H 1 N=Ğ²K 103 0,236

SPM B 8UC93 75 1 N=Ğ²K 103 0,165
H

B 3KX2 210-0H 1 N=Ğ²K 103 0,236

NMMM B 8UC93 75 1 N=Ğ²K 103 0,165
H

B 3KX2 210-0H 1 N=Ğ²K 103 0,236

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì aq P-−þÝć¹ÞŞÐI=−×¦ŁþŠ=¦=˛ð²¦Ł˛¾¦Č=
¹−š×šŠ¦

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=
ý³½²þÐ=EˇÝþð¦×³šýŞÐF

 
fi

Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò ðł

Ëþý−Ýšð²ÞŞš=ýþŠ¦½¦ð˛¾¦¦=¹=ŠŁš×ÞŞý=−þŁþ×þ²ÞŞý=
−×¦ŁþŠþý=Ur`T=E₣š×Þ˛Č=×³ðþČ²ð˛F

ORM B 3KE42 30-0GA 1 N=Ğ²K 103 5,032
QMM B 3KE43 30-0GA 1 N=Ğ²K 103 5,041
SPM B 3KE44 30-0GA 1 N=Ğ²K 103 7,885
NMMM B 3KE45 30-0GA 1 N=Ğ²K 103 8,532

fl˛žþŁ˛Č=ýþŠšÝş=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

ORM B 3KE42 30-0AA 1 N=Ğ²K 103 3,879
QMM B 3KE43 30-0AA 1 N=Ğ²K 103 3,870
SPM B 3KE44 30-0AA 1 N=Ğ²K 103 6,915
NMMM B 3KE45 30-0AA 1 N=Ğ²K 103 7,427

fiŁ˛×¦ÐÞŞÐ=ŠŁš×ÞþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=Ur`T=E×³ðþČ²ð˛=
ð×˛¹Þ˛ČI=−þŠÝþŽð˛=ŽšÝ²˛ČF=ŠÝČ=ˇ˛žþŁþÐ=ýþŠšÝ¦=
ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

ORMI=QMMI=SPMI=NMMM B 8UC73 24-3BB44 1 N=Ğ²K 103 0,200



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

Ò¹²˛ÞþŁð˛=Þ˛=ýþÞ²˛ŽÞŞ¼=−Ý˛²˛¼
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G=Â˛ð˛žŞŁ˛š²¹Č=Š˛ÞÞþš=¦Ý¦=ð×˛²Þþš=šý³=ðþÝ¦₣š¹²ŁþK

 

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì aq P-−þÝć¹ÞŞÐI=−×¦ŁþŠ=¦=̨ ð²¦Ł˛¾¦Č=
¹ž˛Š¦

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

 
fi

Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò ðł

fl˛žþŁ˛Č=ýþŠšÝş=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

Ì×ČýŞš=−×¦ŁþŠŞ

ORM B 3KE42 30-0CA 1 N=Ğ²K 103 5,306
QMM B 3KE43 30-0CA 1 N=Ğ²K 103 5,030
SPM C 3KE44 30-0CA 1 N=Ğ²K 103 7,395
NMMM C 3KE45 30-0CA 1 N=Ğ²K 103 7,990

Ì×ČýŞš=−×¦ŁþŠŞ=EˇÝþð¦×³šýŞšF

ORM B 3KE42 30-0CA 1 N=Ğ²K 103 5,306
QMM B 3KE43 30-0CA 1 N=Ğ²K 103 5,030
SPM C 3KE44 30-0CA 1 N=Ğ²K 103 7,395
NMMM C 3KE45 30-0CA 1 N=Ğ²K 103 7,990

Ó³ðþČ²ð˛=E₣š×Þ˛ČF=H=Þ˛ðÝ˛Šð˛=H=−þŠÝþŽð˛=E¹š×šˇ×¦¹²˛ČF= 
ŠÝČ=ˇ˛žþŁþÐ=ýþŠšÝ¦=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

Ì×ČýŞš=−×¦ŁþŠŞ

ORM B 8UC93 70 1 N=Ğ²K 103 0,128
H

À 8UB95 30 1 N=Ğ²K 103 0,028
H

À 8UC96 31-0B 1 N=Ğ²K 103 0,011

QMM B 8UC93 70 1 N=Ğ²K 103 0,128
H

À 8UB95 30 1 N=Ğ²K 103 0,028
H

À 8UC96 31-0B 1 N=Ğ²K 103 0,011

SPM B 8UC93 74 1 N=Ğ²K 103 0,145
H

À 8UB95 30 1 N=Ğ²K 103 0,028
H

À 8UC96 31-0B 1 N=Ğ²K 103 0,011

NMMM B 8UC93 74 1 N=Ğ²K 103 0,145
H

À 8UB95 30 1 N=Ğ²K 103 0,028
H

À 8UC96 31-0B 1 N=Ğ²K 103 0,011

Ì×ČýŞš=−×¦ŁþŠŞ=EˇÝþð¦×³šýŞšF

ORM B 8UC93 70 1 N=Ğ²K 103 0,128
H

B 8UC95 63 1 N=Ğ²K 103 0,271
H

À 8UC96 31-0B 1 N=Ğ²K 103 0,011

QMM B 8UC93 70 1 N=Ğ²K 103 0,128
H

B 8UC95 63 1 N=Ğ²K 103 0,271
H

À 8UC96 31-0B 1 N=Ğ²K 103 0,011

SPM B 8UC93 74 1 N=Ğ²K 103 0,145
H

B 8UC95 63 1 N=Ğ²K 103 0,271
H

À 8UC96 31-0B 1 N=Ğ²K 103 0,011

NMMM B 8UC93 74 1 N=Ğ²K 103 0,145
H

B 8UC95 63 1 N=Ğ²K 103 0,271
H

À 8UC96 31-0B 1 N=Ğ²K 103 0,011



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

Ò¹²˛ÞþŁð˛=Þ˛=ýþÞ²˛ŽÞŞ¼=−Ý˛²˛¼
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G=Â˛ð˛žŞŁ˛š²¹Č=Š˛ÞÞþš=¦Ý¦=ð×˛²Þþš=šý³=ðþÝ¦₣š¹²ŁþK

 

===============

fiŁ˛×¦ÐÞ˛Č=×³ðþČ²ð˛=ð×˛¹Þ˛Č=H=Þ˛ðÝ˛Šð˛=H=−þŠÝþŽð˛=
EŽšÝ²˛ČF=ŠÝČ=ˇ˛žþŁþÐ=ýþŠšÝ¦=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

Ì×ČýŞš=−×¦ŁþŠŞ

ORM B 8UC93 71 1 N=Ğ²K 103 0,146
H

À 8UB95 30 1 N=Ğ²K 103 0,028
H

À 8UC96 33-0B 1 N=Ğ²K 103 0,011

QMM B 8UC93 71 1 N=Ğ²K 103 0,146
H

À 8UB95 30 1 N=Ğ²K 103 0,028
H

À 8UC96 33-0B 1 N=Ğ²K 103 0,011

SPM B 8UC93 75 1 N=Ğ²K 103 0,165
H

À 8UB95 30 1 N=Ğ²K 103 0,028
H

À 8UC96 33-0B 1 N=Ğ²K 103 0,011

NMMM B 8UC93 75 1 N=Ğ²K 103 0,165
H

À 8UB95 30 1 N=Ğ²K 103 0,028
H

À 8UC96 33-0B 1 N=Ğ²K 103 0,011

Ì×ČýŞš=−×¦ŁþŠŞ=EˇÝþð¦×³šýŞšF

ORM B 8UC93 71 1 N=Ğ²K 103 0,146
H

B 8UC95 63 1 N=Ğ²K 103 0,271
H

À 8UC96 33-0B 1 N=Ğ²K 103 0,011

QMM B 8UC93 71 1 N=Ğ²K 103 0,146
H

B 8UC95 63 1 N=Ğ²K 103 0,271
H

À 8UC96 33-0B 1 N=Ğ²K 103 0,011

SPM B 8UC93 75 1 N=Ğ²K 103 0,165
H

B 8UC95 63 1 N=Ğ²K 103 0,271
H

À 8UC96 33-0B 1 N=Ğ²K 103 0,011

NMMM B 8UC93 75 1 N=Ğ²K 103 0,165
H

B 8UC95 63 1 N=Ğ²K 103 0,271
H

À 8UC96 33-0B 1 N=Ğ²K 103 0,011

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì aq P-−þÝć¹ÞŞÐI=−×¦ŁþŠ=¦=̨ ð²¦Ł˛¾¦Č=
¹ž˛Š¦

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

 
fi

Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò ðł

Îþý¦Þ˛ÝşÞŞÐ=ŠÝ¦²šÝşÞŞÐ=²þð=fì aq P-−þÝć¹ÞŞÐI=ž˛ŠÞ¦š=−þŁþ×þ²ÞŞš=
−×¦ŁþŠŞ=EˇÝþð¦×³šýŞšF

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=
ý³½²þÐ=EˇÝþð¦×³šýŞÐF

 
fi

Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò ðł

fl˛žþŁ˛Č=ýþŠšÝş=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

ORM B 3KE42 30-0CA 1 N=Ğ²K 103 5,306
QMM B 3KE43 30-0CA 1 N=Ğ²K 103 5,030
SPM C 3KE44 30-0CA 1 N=Ğ²K 103 7,395
NMMM C 3KE45 30-0CA 1 N=Ğ²K 103 7,990
‚Łš×ÞþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=Ur`T=E₣š×Þ˛Č=×³ðþČ²ð˛F=ŠÝČ=
ˇ˛žþŁþÐ=ýþŠšÝ¦=ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

ORMI=QMMI=SPMI=NMMM C 8UC73 14-1BB44 1 N=Ğ²K 103 0,200
fiŁ˛×¦ÐÞŞÐ=ŠŁš×ÞþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=Ur`T=E×³ðþČ²ð˛=
ð×˛¹Þ˛ČI=−þŠÝþŽð˛=ŽšÝ²˛ČF=ŠÝČ=ˇ˛žþŁþÐ=ýþŠšÝ¦=
ŁŞðÝć₣˛²šÝČI=ˇšž=×³ðþČ²ð¦

ORMI=QMMI=SPMI=NMMM B 8UC73 24-3BB44 1 N=Ğ²K 103 0,200



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

ÊžþÝ¦×³ćğ¦š=þˇþÝþ₣ð¦
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G=Â˛ð˛žŞŁ˛š²¹Č=Š˛ÞÞþš=¦Ý¦=ð×˛²Þþš=šý³=ðþÝ¦₣š¹²ŁþK

■Ì×š¦ý³ğš¹²Ł˛===

≥ flÝþð¦×þŁð˛=²×šýČ=ž˛ýð˛ý¦
≥ flþÝşĞþš=−×þ¹²×˛Þ¹²Łþ=ŠÝČ=−þŠðÝć₣šÞ¦Č
≥ Ô²š−šÞş=ž˛ğ¦²Ş=fmSR

≥ Îš=Þ³ŽŠ˛š²¹Č=Ł=þˇ¹Ý³Ž¦Ł˛Þ¦¦
≥ Ì×þ¹²þÐ=ýþÞ²˛Ž

■ÏˇÝ˛¹²ş=−×¦ýšÞšÞ¦Č

Î˛Ğ¦=łÝ˛ŁÞŞš=¦=˛Ł˛×¦ÐÞŞš=ŁŞðÝć₣˛²šÝ¦=þˇš¹−š₣¦Ł˛ć²=
˛ˇ¹þÝć²Þ³ć=ˇšžþ−˛¹Þþ¹²şI=Ł=²þý=₣¦¹Ýš=¦=−×¦=−×þŁšŠšÞ¦¦=
×šýþÞ²ÞŞ¼=×˛ˇþ²=¦=²š¼þˇ¹Ý³Ž¦Ł˛Þ¦ČK=flšžþ−˛¹Þþ¹²ş=Łþ=Ł¹š¼=
þ²ÞþĞšÞ¦Č¼I=ð˛ð=ŠÝČ=ÝćŠšÐI=²˛ð=¦=ŠÝČ=²š¼Þ¦ð¦K

flÝ˛łþŠ˛×Č=ŁŞ¹þðþÐ=¹²š−šÞ¦=ž˛ğ¦²Ş=fmSRI=þÞ¦=²˛ðŽš=Þš=
ˇþČ²¹Č=−ŞÝ¦=¦=¹²×³Ð=ŁþŠŞK=�šý=¹˛ýŞý=Þ˛Ğ¦=łÝ˛ŁÞŞš=¦=

˛Ł˛×¦ÐÞŞš=ŁŞðÝć₣˛²šÝ¦=þˇš¹−š₣¦Ł˛ć²=Þšþł×˛Þ¦₣šÞÞ³ć=
ˇšžþ−˛¹Þþ¹²ş=ð˛ð=Ł=žŠ˛Þ¦Č¼=¦=¦ÞŽšÞš×ÞŞ¼=¹þþ×³ŽšÞ¦Č¼I=²˛ð=
¦=Ł=−¦ğšŁþÐ=¦=¼¦ý¦₣š¹ðþÐ=−×þýŞĞÝšÞÞþ¹²¦K=‚˛Žš=Ł=
þ²ð×Ş²þý=¹þ¹²þČÞ¦¦I=¹þ¼×˛ÞČš²¹Č=ð˛ð=ý¦Þ¦ý³ý=O-Ð=ðÝ˛¹¹=
¹²š−šÞ¦=ž˛ğ¦²Ş=fmOMK=

■‚˛ÞÞŞš=ŠÝČ=ŁŞˇþ×˛=¦=ž˛ð˛ž˛

NF Ô=mbLk-ðÝšýýþÐK
OF ‚ÝČ=R-łþ=−×þŁþŠÞ¦ð˛=ýþŽÞþ=Šþ−þÝÞ¦²šÝşÞþ=³¹²˛ÞþŁ¦²ş=²˛ð³ć=Žš=

ðÝšýý³K
PF Ì×¦=²šý−š×˛²³×š=þð×³Ž˛ćğšÐ=¹×šŠŞ=Šþ=PR=Œ K̀

·Ý˛ŁÞŞš=
ðþÞ²˛ð²Ş

‡¹−þýK=
ðþÞ²˛ð²Ş

mL^`-OP^ fì= Ìþ−š×š₣Þþš=¹š₣šÞ¦š=
łÝ˛ŁÞŞ¼=−×þŁþŠÞ¦ðþŁL 
mbk

aq Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=„Ò=
−×¦ýš×Þþ

−×¦= 
PUM¥QMM=‡

Ì×¦ 
SSMLSVM=‡

ð‡² ð‡² ^ ýýO ðł

·Ý˛ŁÞŞÐ=ŁŞðÝć₣˛²šÝş=¹=−þŁþ×þ²ÞŞý=−×¦ŁþŠþýI=₣š×ÞŞÐNF

UemO=TKK

P -- SR NNM NOR PRLPROF C 8HP2 707 1 N=Ğ²K 046 5,240
UM NRM NSM NOMLTMOF C 8HP2 711 1 N=Ğ²K 046 8,039

NPO OOM ORM NRMLTMOF C 8HP2 712 1 N=Ğ²K 046 12,242

OMM PTR QMM O=×=NRM=¦Ý¦= C 8HP2 717 1 N=Ğ²K 046 12,378
PRM PTR SPM O=×=OQMLNOM C 8HP2 718 1 N=Ğ²K 046 13,050

PNR PNR UMMPF O=×=OQMLOQM C 8HP2 738 1 N=Ğ²K 046 14,290

fiŁ˛×¦ÐÞŞÐ=ŁŞðÝć₣˛²šÝş=¹=−þŁþ×þ²ÞŞý=−×¦ŁþŠþýI=ð×˛¹ÞŞÐLŽšÝ²ŞÐNF

P -- SR NNM NOR PRLPROF C 8HP2 747 1 N=Ğ²K 046 5,217
UM NRM NSM NOMLTMOF C 8HP2 748 1 N=Ğ²K 046 7,992

NPO OOM ORM NRMLTMOF C 8HP2 761 1 N=Ğ²K 046 12,340

OMM PTR QMM O=×=NRM=¦Ý¦= C 8HP2 762 1 N=Ğ²K 046 12,354
PRM PTR SPM O=×=OQMLNOM C 8HP2 763 1 N=Ğ²K 046 12,875

PNR PNR UMMPF O=×=OQMLOQM C 8HP2 758 1 N=Ğ²K 046 14,329



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

Ì×¦Þ˛ŠÝšŽÞþ¹²¦
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■‚˛ÞÞŞš=ŠÝČ=ŁŞˇþ×˛=¦=ž˛ð˛ž˛========
 

ÍþŠ¦½¦ð˛¾¦Č aq Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

ðł

Ph^RM=PMLPh^RN=PM

Ë×ŞĞð˛=ðÝšýýÞþÐ=ðþ×þˇð¦

 
PhuP=RRO-Pa^MN

EN=ðþý−Ýšð²=Z=S=Ğ²³ðF=ŠÝČ=P-−þÝć¹ÞŞ¼=˛−−˛×˛²þŁ= } 3KX3 552-3DA01 N=Ğ²K
EN=ðþý−Ýšð²=Z=U=Ğ²³ðF=ŠÝČ=Q-−þÝć¹ÞŞ¼=˛−−˛×˛²þŁ= B 3KX3 552-3DB01 1 N=Ğ²K 103 0,102

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=ý³½²þÐ=fmSR
ıš×Þ˛Č=×³ðþČ²ð˛I=Ğ²þð=PMM=ýý C 8UC71 11-1BB10 1 N=Ğ²K 103 0,200
˛Ł˛×¦ÐÞŞÐ=EŽšÝ²ŞÐLð×˛¹ÞŞÐFI= 
ðŁ˛Š×˛²ÞŞÐ=Ğ²þð=PMM=ýý

B 8UC71 21-3BB10 1 N=Ğ²K 103 0,200

 
PhuP=RNS-N^^

Ì×¦ŁþŠ=ŠÝČ=¹²˛¾¦þÞ˛×ÞþÐ=³¹²˛ÞþŁð¦ } 3KX3 516-1AA 1 N=Ğ²K 103 0,088
ıš×Þ˛Č=×³ðþČ²ð˛I=Ğ²þð=ORM=ýý

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=PMM=ýý B 8UC60 31 1 N=Ğ²K 103 0,068

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=SMM=ýý B 8UC60 81 1 N=Ğ²K 103 0,136

ÔþšŠ¦Þ¦²šÝşÞ˛Č=ý³½²˛ B 8UC60 21 1 N=Ğ²K 103 0,031

 
Pp_NQ=MM-M^

‚þ−þÝÞ¦²šÝşÞŞš=ðþÞ²˛ð²Ş

N=ÎÏ=H=N=ÎÂ B 3SB14 00-0A 1 N=Ğ²K 102 0,020

O=ÎÏ B 3SB14 00-0G 1 N=Ğ²K 102 0,020

O=ÎÂ B 3SB14 00-0H 1 N=Ğ²K 102 0,020

Ph^RM=QMLPh^RN=QMLPh^ROLPh^RP

Ë×ŞĞð˛=ðÝšýýÞþÐ=ðþ×þˇð¦

 
PhuP=RRO-Pa^MN

EN=ðþý−Ýšð²=Z=S=Ğ²³ðF=ŠÝČ=P-−þÝć¹ÞŞ¼=˛−−˛×˛²þŁ=
Ph^RO=

} 3KX3 552-3DA01 1 N=Ğ²K 103 0,077

‚ÝČ=Ph^RP } 3KX3 553-3DA01 1 N=Ğ²K 103 0,147

EN=ðþý−Ýšð²=Z=U=Ğ²³ðF=ŠÝČ=Q-−þÝć¹ÞŞ¼=˛−−˛×˛²þŁ=
Ph^RO=

B 3KX3 552-3DB01 1 N=Ğ²K 103 0,102

‚ÝČ=Ph^RP B 3KX3 553-3DB01 1 N=Ğ²K 103 0,170

 

Ur`TO=NO-N__OM

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=ý³½²þÐ=fmSR
ıš×Þ˛Č=×³ðþČ²ð˛I=Ğ²þð=PMM=ýý C 8UC72 12-1BB20 1 N=Ğ²K 103 0,200
˛Ł˛×¦ÐÞŞÐ=EŽšÝ²ŞÐLð×˛¹ÞŞÐFI= 
ðŁ˛Š×˛²ÞŞÐ=Ğ²þð=PMM=ýý

B 8UC72 22-3BB20 1 N=Ğ²K 103 0,200

Ì×¦ŁþŠ=ŠÝČ=¹²˛¾¦þÞ˛×ÞþÐ=³¹²˛ÞþŁð¦ } 3KX3 536-1AA 1 N=Ğ²K 103 0,155
ıš×Þ˛Č=×³ðþČ²ð˛I=Ğ²þð=ORM=ýý

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=PMM=ýý B 8UC60 32 1 N=Ğ²K 103 0,132

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=SMM=ýý B 8UC60 82 1 N=Ğ²K 103 0,265

ÔþšŠ¦Þ¦²šÝşÞ˛Č=ý³½²˛ B 8UC60 22 1 N=Ğ²K 103 0,023

 
Pp_NQ=MM-M^

‚þ−þÝÞ¦²šÝşÞŞš=ðþÞ²˛ð²Ş

N=ÎÏ=H=N=ÎÂ B 3SB14 00-0A 1 N=Ğ²K 102 0,020

O=ÎÏ B 3SB14 00-0G 1 N=Ğ²K 102 0,020

O=ÎÂ B 3SB14 00-0H 1 N=Ğ²K 102 0,020

N=ÎÏ=H=N=ÎÂI=OM=ý¹=þ−š×šŽšÞ¦š B 3KX3 552-3EA01 1 N=Ğ²K 103 0,019

Ph^RRLPh^RTLPh^RU

Ë×ŞĞð˛=ðÝšýýÞþÐ=ðþ×þˇð¦
EN=ðþý−Ýšð²=Z=S=Ğ²³ðF=ŠÝČ=P-−þÝć¹ÞŞ¼=˛−−˛×˛²þŁ= } 3KX3 557-3DA01 1 N=Ğ²K 103 0,277
EN=ðþý−Ýšð²=Z=U=Ğ²³ðF=ŠÝČ=Q-−þÝć¹ÞŞ¼=˛−−˛×˛²þŁ= B 3KX3 557-3DB01 1 N=Ğ²K 103 0,362

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=ý³½²þÐ=fmSR
ıš×Þ˛Č=×³ðþČ²ð˛I=Ğ²þð=PMM=ýý C 8UC73 13-1BB30 1 N=Ğ²K 103 0,200
˛Ł˛×¦ÐÞŞÐ=EŽšÝ²ŞÐLð×˛¹ÞŞÐFI= 
ðŁ˛Š×˛²ÞŞÐ=Ğ²þð=PMM=ýý

B 8UC73 23-3BB30 1 N=Ğ²K 103 0,200

 
PhuP=NTS-Nb

Ì×¦ŁþŠ=ŠÝČ=¹²˛¾¦þÞ˛×ÞþÐ=³¹²˛ÞþŁð¦ } 3KX3 176-1E 1 N=Ğ²K 103 0,285
ıš×Þ˛Č=×³ðþČ²ð˛I=Ğ²þð=ORM=ýý

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=PMM=ýý C 8UC60 33 1 N=Ğ²K 103 0,217

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=SMM=ýý B 8UC60 83 1 N=Ğ²K 103 0,430

ÔþšŠ¦Þ¦²šÝşÞ˛Č=ý³½²˛ B 8UC60 23 1 N=Ğ²K 103 0,085

 
Pp_NQ=MM-M^

‚þ−þÝÞ¦²šÝşÞŞš=ðþÞ²˛ð²Ş

N=ÎÏ=H=N=ÎÂ B 3SB14 00-0A 1 N=Ğ²K 102 0,020

O=ÎÏ B 3SB14 00-0G 1 N=Ğ²K 102 0,020

O=ÎÂ B 3SB14 00-0H 1 N=Ğ²K 102 0,020

N=ÎÏ=H=N=ÎÂI=OM=ý¹=þ−š×šŽšÞ¦š B 3KX3 552-3EA01 1 N=Ğ²K 103 0,019



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

Ì×¦Þ˛ŠÝšŽÞþ¹²¦

7/41
G=Â˛ð˛žŞŁ˛š²¹Č=Š˛ÞÞþš=¦Ý¦=ð×˛²Þþš=šý³=ðþÝ¦₣š¹²ŁþK

ÍþŠ¦½¦ð˛¾¦Č= aq Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

ðł

PhbQOLPhbQP

Ìš×šðÝć₣˛²šÝ¦=×˛ˇþ₣¦¼=×šŽ¦ýþŁ

Ìš×šðÝć₣˛²šÝ¦=×˛ˇþ₣¦¼=×šŽ¦ýþŁ=¹=
−×š×ŞŁ˛Þ¦šý

 
PhuO=ONM-Ma

‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡˘ËÈ B 3KX2 210-0D 1 N=Ğ²K 103 2,442
‡ŞðÝć₣˛²šÝş=f=‡˘ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡˘ËÈ
‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡ËÈ

 ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=ý³½²þÐ=
fmSR

C 8UC74 14-1BF44 1 N=Ğ²K 103 0,200

Ó³ðþČ²ð˛=E₣š×Þ˛ČFI=Ğ²þð=PMM=ýý

Ì×ČýþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ B 8UC93 81 1 N=Ğ²K 103 0,264
‚ŁþÐÞ˛Č=×³ðþČ²ð˛=E₣š×Þ˛ČF=ŠÝČ=¹²˛¾K=
³¹²˛ÞþŁð¦

Ìš×šðÝć₣˛²šÝ¦=×˛ˇþ₣¦¼=×šŽ¦ýþŁ= 
ˇšž=−×š×ŞŁ˛Þ¦Č
‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡˘ËÈ B 3KX2 210-0E 1 N=Ğ²K 103 2,448
‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡ËÈ
‡ŞðÝć₣˛²šÝş=f=‡˘ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡ËÈ

‚Łš×ÞþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=fmSR
Ó³ðþČ²ð˛=E₣š×Þ˛ČFI=Ğ²þð=PMM=ýý C 8UC74 14-1FG44 1 N=Ğ²K 103 0,200

Ì×ČýŞš=−×¦ŁþŠŞ B 8UC93 81 1 N=Ğ²K 103 0,264
‚ŁþÐÞ˛Č=×³ðþČ²ð˛=E₣š×Þ˛ČF=ŠÝČ=¹²˛¾K=
³¹²˛ÞþŁð¦

Ì˛×˛ÝÝšÝşÞŞÐ=−š×šðÝć₣˛²šÝş

‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡ËÈ C 3KX2 250-1A 1 N=Ğ²K 103 0,750

‡ŞðÝć₣˛²šÝş=f=‡˘ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡˘ËÈ

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=ý³½²þÐ=
fmSR

C 8UC74 14-1BB44 1 N=Ğ²K 103 0,200

Ó³ðþČ²ð˛=E₣š×Þ˛ČFI=Ğ²þð=PMM=ýý

fiŁ˛×¦ÐÞŞÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=
ý³½²þÐ=fmSR

B 8UC74 24-3BB44 1 N=Ğ²K 103 0,200

‚ŁþÐÞ˛Č=×³ðþČ²ð˛=Eð×˛¹Þ˛ČFI=Ğ²þð=PMM=ýý

Ì×ČýþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ B 8UC93 81 1 N=Ğ²K 103 0,264
Ó³ðþČ²ð˛=E₣š×Þ˛ČF=ŠÝČ=¹²˛¾K=³¹²˛ÞþŁð¦

Ì×þ₣¦š=−×¦Þ˛ŠÝšŽÞþ¹²¦

 
PhuP=RRT-Pa^MN

Ë×ŞĞð˛=ðÝšýýÞþÐ=ðþ×þˇð¦ 3KX3 557-3DA01 1 N=Ğ²K 103 0,277
EN=³−˛ðþŁð˛=Z=S=Ğ²KF

‚Łš×ÞþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=fmSR
ıš×Þ˛Č=×³ðþČ²ð˛I=Ğ²þð=PMM=ýý C 8UC73 14-1BB44 1 N=Ğ²K 103 0,200
˛Ł˛×¦ÐÞŞÐ=EŽšÝ²ŞÐLð×˛¹ÞŞÐFI= 
ðŁ˛Š×˛²ÞŞÐ=Ğ²þð=PMM=ýý

B 8UC73 24-3BB44 1 N=Ğ²K 103 0,200

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=PMM=ýý B 8UC60 34 1 N=Ğ²K 103 0,315

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=SMM=ýý B 8UC60 84 1 N=Ğ²K 103 0,640

        
PhuO=OPN-N^

‚þ−þÝÞ¦²šÝşÞŞš=ðþÞ²˛ð²Ş=¹=ð³Ý˛₣ð˛ý¦ B 3KX2 231-1A 1 N=Ğ²K 103 0,049
N=ÎÏ=H=N=ÎÂ=E−þÝÞŞÐ=³¹²˛ÞþŁþ₣ÞŞÐ=ðþý−Ýšð²F

ÒłþÝþð=ŠÝČ=ž˛žšýÝšÞ¦Č B 3KX2 252-1A 1 N=Ğ²K 103 0,049

‚³łþł˛¹¦²šÝşÞ˛Č=ð˛ýš×˛ B 3KY2 202-0B 1 N=Ğ²K 103 0,640
Ež˛−₣˛¹²ş=¹=P=Ł¹²˛Łð˛ý¦F

 
PhvO=OMQ-M^

·Ý˛ŁÞŞš=ðþÞ²˛ð²Ş B 3KY2 204-0A 1 N=Ğ²K 103 0,202
Ež˛−₣˛¹²ş=¹=P=½¦ð¹¦×þŁ˛ÞÞŞý¦= 
¦=P=−þŠŁ¦ŽÞŞý¦=ðþÞ²˛ð²-Šš²˛ÝČý¦F



‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦
‡ŞðÝć₣˛²šÝ¦¥×˛žİšŠ¦Þ¦²šÝ¦=pbkqolk=Ph^I=Phb=Šþ=NMMM=fi

Ì×¦Þ˛ŠÝšŽÞþ¹²¦

7/42 Siemens LV 10.1 · 2011
G=Â˛ð˛žŞŁ˛š²¹Č=Š˛ÞÞþš=¦Ý¦=ð×˛²Þþš=šý³=ðþÝ¦₣š¹²ŁþK

===============

ÍþŠ¦½¦ð˛¾¦Č====== aq Â˛ð˛žÞþÐ=◊ ÙšÞ˛=
ž˛=„Ò

„Ò=
EÒÔ�ÓÏÁÔ�‡ÏI=
ËÏÍÌÈ„Ë�I=jF

mpGL=
ž˛=Ğ²K

ÒÌfiËK ‡š¹=þŠÞþÐ=
„Ò=−×¦ýš×Þþ

ðł

PhbQQLPhbQR

 
PhuO=ONM-Ma

Ìš×šðÝć₣˛²šÝ¦=×˛ˇþ₣¦¼=×šŽ¦ýþŁ

Ìš×šðÝć₣˛²šÝ¦=×˛ˇþ₣¦¼=×šŽ¦ýþŁ= 
¹=−×š×ŞŁ˛Þ¦šý
‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡˘ËÈ B 3KX2 210-0D 1 N=Ğ²K 103 2,442
‡ŞðÝć₣˛²šÝş=f=‡˘ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡˘ËÈ
‡ŞðÝć₣˛²šÝş=f=‡˘ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡ËÈ

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=ý³½²þÐ=
fmSR

C 8UC74 14-1BF44 1 N=Ğ²K 103 0,200

Ó³ðþČ²ð˛=E₣š×Þ˛ČF=ŠÝČ=−š×šðÝć₣˛²šÝČ=
×˛ˇþ₣¦¼=×šŽ¦ýþŁ=¹=−×š×ŞŁ˛Þ¦šýI= 
Ğ²þð=PMM=ýý

Ì×ČýþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ B 8UC93 81 1 N=Ğ²K 103 0,264
‚ŁþÐÞ˛Č=×³ðþČ²ð˛=E₣š×Þ˛ČF=ŠÝČ=¹²˛¾K=
³¹²˛ÞþŁð¦

Ìš×šðÝć₣˛²šÝ¦=×˛ˇþ₣¦¼=×šŽ¦ýþŁ= 
ˇšž=−×š×ŞŁ˛Þ¦Č
‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡˘ËÈ B 3KX2 210-0E 1 N=Ğ²K 103 2,448
‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡ËÈ

‡ŞðÝć₣˛²šÝş=f=‡˘ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡ËÈ

‚Łš×ÞþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=fmSR C 8UC74 14-1FG44 1 N=Ğ²K 103 0,200
Ó³ðþČ²ð˛=E₣š×Þ˛ČF=ŠÝČ=−š×šðÝć₣˛²šÝČ=
×˛ˇþ₣¦¼=×šŽ¦ýþŁ=ˇšž=−×š×ŞŁ˛Þ¦ČI= 
Ğ²þð=PMM=ýý

Ì×ČýŞš=−×¦ŁþŠŞ B 8UC93 81 1 N=Ğ²K 103 0,264
‚ŁþÐÞ˛Č=×³ðþČ²ð˛=E₣š×Þ˛ČF=ŠÝČ=¹²˛¾K=
³¹²˛ÞþŁð¦

Ì˛×˛ÝÝšÝşÞŞÐ=−š×šðÝć₣˛²šÝş

‡ŞðÝć₣˛²šÝş=f=‡ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡ËÈ C 3KX2 250-1A 1 N=Ğ²K 103 0,750

‡ŞðÝć₣˛²šÝş=f=‡˘ËÈ=¥=ŁŞðÝć₣˛²šÝş=ff=‡˘ËÈ

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=ý³½²þÐ=
fmSR

C 8UC74 14-1BB44 1 N=Ğ²K 103 0,200

Ó³ðþČ²ð˛=E₣š×Þ˛ČFI=Ğ²þð=PMM=ýý

fiŁ˛×¦ÐÞŞÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=
ý³½²þÐ=fmSR

B 8UC74 24-3BB44 1 N=Ğ²K 103 0,200

‚ŁþÐÞ˛Č=×³ðþČ²ð˛=Eð×˛¹Þ˛ČFI=Ğ²þð=PMM=ýý

Ì×ČýþÐ=−þŁþ×þ²ÞŞÐ=−×¦ŁþŠ B 8UC93 81 1 N=Ğ²K 103 0,264
Ó³ðþČ²ð˛=E₣š×Þ˛ČF=ŠÝČ=¹²˛¾K=³¹²˛ÞþŁð¦

Ì×þ₣¦š=−×¦Þ˛ŠÝšŽÞþ¹²¦

Ë×ŞĞð¦=ðÝšýýÞþÐ=ðþ×þˇð¦ B 3KX2 252-0C 1 N=Ğ²K 103 0,424
EŁš×¼ÞK=¦=Þ¦ŽÞKF

ÌþŁþ×þ²ÞŞÐ=−×¦ŁþŠ=¹=ŠŁš×ÞþÐ=ý³½²þÐ=
fmSR
ıš×Þ˛Č=×³ðþČ²ð˛I=Ğ²þð=PMM=ýý C 8UC73 14-1BB44 1 N=Ğ²K 103 0,200

 
PhuO=OPN-N^

fiŁ˛×¦ÐÞŞÐ=EŽšÝ²ŞÐLð×˛¹ÞŞÐFI= 
ðŁ˛Š×˛²ÞŞÐ=Ğ²þð=PMM=ýý

B 8UC73 24-3BB44 1 N=Ğ²K 103 0,200

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=PMM=ýý B 8UC60 34 1 N=Ğ²K 103 0,315

ÒŠÝ¦ÞšÞÞŞÐ=Ğ²þð=SMM=ýý B 8UC60 84 1 N=Ğ²K 103 0,640

‚þ−þÝÞ¦²šÝşÞŞš=ðþÞ²˛ð²Ş B 3KX2 231-1A 1 N=Ğ²K 103 0,049
N=ÎÏ=H=N=ÎÂ=E−þÝÞŞÐ=³¹²˛ÞþŁþ₣ÞŞÐ=ðþý−Ýšð²F

ÒłþÝþð=ŠÝČ=ž˛žšýÝšÞ¦Č B 3KX2 252-1A 1 N=Ğ²K 103 0,049

 
PhvO=OPO-M^

‚³łþł˛¹¦²šÝşÞ˛Č=ð˛ýš×˛ B 3KY2 232-0A 1 N=Ğ²K 103 1,040
Ež˛−₣˛¹²ş=¹=P=Ł¹²˛Łð˛ý¦F

·Ý˛ŁÞŞš=ðþÞ²˛ð²Ş B 3KY2 234-0A 1 N=Ğ²K 103 0,105
Â˛−₣˛¹²ş=¹=P=½¦ð¹¦×þŁ˛ÞÞŞý¦= 
¦=P=−þŠŁ¦ŽÞŞý¦=ðþÞ²˛ð²-Šš²˛ÝČý¦




